



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{3} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{3}{4} + \frac{3}{5}\right) =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{4}\right) \times \frac{3}{2} + \left(\frac{3}{5} + \frac{3}{5}\right)^2 =$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 =$$

$$\left(\left(\frac{1}{4}\right)^2 - \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{1}{3}\right)^2 =$$

$$\left(3 + \frac{1}{2}\right)^2 - \frac{3}{5} + 4^2 + \frac{1}{6} =$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{2}{5}\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{3}{5}\right)^2 =$$

$$\left(\frac{3}{2} + \frac{1}{6}\right)^2 + \frac{1}{6}\left(\frac{3}{2} + \frac{1}{2}\right) =$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{6} \times \frac{3}{4} + 3^2 =$$

$$\left(\frac{1}{4} + \frac{3}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \frac{1}{5}\right) =$$



Nombre: \_\_\_\_\_

Fecha: \_\_\_\_\_ Puntuación: \_\_\_\_\_

$$\left(\frac{1}{3} - \frac{1}{2}\right)^2 + \frac{1}{3}\left(\frac{3}{4} + \frac{3}{5}\right) = \frac{43}{90}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{4}\right) \times \frac{3}{2} + \left(\frac{3}{5} + \frac{3}{5}\right)^2 = \frac{36}{25} = 1\frac{11}{25}$$

$$\left(\left(\frac{1}{5}\right)^2 + \frac{1}{2}\right) \times \frac{3}{2} - \left(\frac{1}{2} + \frac{1}{2}\right)^2 = \left(-\frac{19}{100}\right)$$

$$\left(\left(\frac{1}{4}\right)^2 - \frac{1}{3}\right) \times \frac{1}{4} - \left(\frac{1}{3} + \frac{1}{2}\right)^2 = \left(-\frac{439}{576}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{2} - \frac{1}{3}\right)^2 = \frac{11}{108}$$

$$\left(3 + \frac{1}{2}\right)^2 - \frac{3}{5} + 4^2 + \frac{1}{6} = \frac{1669}{60} = 27\frac{49}{60}$$

$$\left(\left(\frac{1}{3}\right)^2 - \frac{2}{5}\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{3}{5}\right)^2 = \left(-\frac{3787}{2700}\right) = \left(-1\frac{1087}{2700}\right)$$

$$\left(\frac{3}{2} + \frac{1}{6}\right)^2 + \frac{1}{6}\left(\frac{3}{2} + \frac{1}{2}\right) = \frac{28}{9} = 3\frac{1}{9}$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{6} \times \frac{3}{4} + 3^2 = \frac{2225}{72} = 30\frac{65}{72}$$

$$\left(\frac{1}{4} + \frac{3}{4}\right)^2 - \frac{1}{3}\left(\frac{1}{2} + \frac{1}{5}\right) = \frac{23}{30}$$